Answer on Question #75508 - Physics / Electric Circuits

Design a zener regulated power supply to give 9.1V DC output with maximum load current of
50 mA. Assume that the minimum Iz required for proper functioning of zener diode is 5 mA, and the
unregulated DC input is 12V. Indicate the value of Rs and power ratings of zener diode and Rs.

Solution.

5 Rs +
e L. +*
58
Inom
VD1
DC 12v ZS Stab9.1v
- . .__
1=2;R=Y; Ups =12V —-91V =29V; R, =22 =2 — 58 Ohm
R 1 1 0.054

Pgs = I? x Rgg = 0.052 * 58 = 0.145W
Pygy = U 1 =9.1V % 0.054 = 0.455W

Answer. R;=58 Ohm, Prs=0.145W, Pv41=0.455W



